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9 | No.8+39.520 HP ¢ 400 1700 1350 2350 1700 1100 1300 45 2.71 2.71
15 | NO.14+10.248 | HP @ 400 2080 1350 2350 1700 1100 1300 50 2.61 3.11
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(mm) (mm) (mm) (mm) (mm) (mm) (mm) (m) (m)
2 NO. 4+11. 204 VP¢ 100 1007 1200 2000 1350 750 950 35 2.42 2.42
3 NO. 4+15. 991 VP 100 1012 1200 2000 1350 750 950 35 2.45 2.45
5 NO. 6+21. 395 VP 100 1151 1350 2350 1350 750 950 30 2.61 2.61
6 NO. 6+26. 400 VP¢ 100 1245 1350 2350 1350 750 950 30 2.68 2.68
8 NO. 8+33. 952 VP 100 1120 1350 2350 1350 750 950 30 2.75 2.75
10 NO. 9+41. 767 HP ¢ 300 1709 1350 2350 1600 1000 1200 40 2.36 2.86
11 NO. 10+48. 628 VP¢ 100 1259 1350 2350 1350 750 950 35 3.04 3.04
12 NO. 12+1. 050 HP ¢ 300 1799 1350 2350 1600 1000 1200 45 2.54 3.04
13 NO. 13+3. 500 VP¢ 100 1243 1350 2350 1350 750 950 35 3.03 3.03
14 NO. 13+8. 188 VP¢ 100 1332 1350 2350 1350 750 950 35 3.08 3.08
16 NO. 15+12. 624 VP 100 1370 1350 2350 1350 750 950 35 2.98 2.98
17 NO. 15+17. 418 VP¢ 100 1221 1350 2350 1350 750 950 35 3.00 3.00
18 NO. 16+13. 516 HP ¢ 300 1593 1350 2350 1600 1000 1200 40 2.30 2.80
19 NO. 16+29. 497 HP ¢ 250 1232 1350 2350 1550 950 1150 40 2.10 2.60
20 NO. 17+19. 535 VP¢ 100 689 1350 2350 1350 750 950 30 2.30 2.30
21 NO. 18+44. 723 VP ¢ 250 1063 1350 2350 1500 900 1100 35 1.99 2.49
22 NO. 19+22. 233 HP ¢ 250 1639 1350 2350 1550 950 1150 40 2.68 2.68
23 NO. 21+32. 882 VP ¢ 150 1159 1350 2350 1400 800 1000 30 1.72 2.22
24 NO. 23+36. 102 VP¢ 100 674 1350 2350 1350 750 950 30 2.34 2.34
25 NO. 25+44. 660 HP ¢ 250 1607 1350 2350 1550 950 1150 40 2.1 2.61
26 NO. 28+7. 279 VP¢ 100 774 1350 2350 1350 750 950 30 1.64 2.14
21 NO. 29+9. 722 VP ¢ 150 1036 1350 2350 1400 800 1000 30 1.59 2.09
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